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FESHAE 29 1,365,026 1,714,138 A349,112

201 2Et2 & 997,143 1,010,898 A13,755
01 Ar22teltl 19,400 19,350 50
OdstHs e A 7ol 1,400,000& 1,400
OdE2I| A5 18,000,000 18,000
02 23244l 977,743 991,548 A 13,805
OJESAUANE |2+

233,743,000& 233,743
OHESN 2223 744,000,000& 744,000

405 XHAHE SHI 367,883 293,000 74,883
01 XL = SF = 367,883 293,000 74,883
O#HFH3I| L UHIERT ARIXI 20K

62,000,000 62,000
OIPHStWSAIAE == AH| Wil
231,000,000& 231,000
ogegsdl uH 74,883,000& 74,883
FESASAEY 2el 2,560 2,560

201 L2 | 1,680 1,680
01 AtR2telt] 1,680 1,680
OHESA QI MA 7O & HE M 1,680

202 (4t 880 880
01 =04 b| 880 880
OFESA N&&EAH 0l 880

HE2IZH| 53,907 50,791 3,116
=23H(F2sge) 53,907 50,791 3,116




AERSEESW SN HEsggE
;. ¥ 2Z 3
ool JI=ZHI(Z2steg) (S &)
4224 - H - G9(30) - AIRAY - B of v e HIDE2
2A24H| 53,907 50,791 3,116
201 er23 | 32,958 29,962 2,9%
01 At2teltl 32,958 29,962 2,99%
ORNEg=+3HI 16,062,000& 16,062
OJl=gRLd N2 Y|
16,896,000 16,89%6
202 04| 15,729 15,729
01 =LHOLI 16,729 15,729
OJl=gf=d 0| 15,729,000& 16,729
203 HR=H] 5,220 5,100 120
M EA2ER=A 5,220 5,100 120
ORNEgE =AY 5,220,000& 5,220
Hees(destge) 614,498 628,748 14,250
AN E 614,498 628,748 A14,250
tl==2clsde 614,498 628,748 14,250
705 Ol=sEci=ae 614,498 628,748 A14,250
03 Al - EXISHED IS0 ==B=d e 570,000 570,000 0
OSEUoIHdETS 570,000,000 570,000
04 Al - EXISHEDIS0==0I ka2t 44,498 58,748 N 14,250
OSSO e+ 44,498,000& 44,498




Al

20238 =0ila LEts| D& A

NEHPIEE I
Zal: HOIE DY Y 7S
o9l COIE &A1) 2

2A

Ol &F A

CIoIEIE &Y

Al A

AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
QOIS S St 4,140,460 3,194,240 946,220
CIOIEDIE &HE = 4,099,004 3,153,384 945,620
GIOIEEAID| = 45,850 36,850 9,000
CIOIADIEr Y 2dst 45,850 36,850 9,000
201 L2 | 31,250 28,250 3,000
01 At 22|l 18,250 18,250 0
Qaioigo1gr HE 3 =%
6,750,000& 6,750
OHUIOIH S Ot3tHI0]
8,000,000& 8,000
OE22, ==, #4% S HE
1,000,000& 1,000
OZ30I0Id &= 28Ug
2,500,000& 2,500
03 &At2ZH] 13,000 10,000 3,000
OZ30I0Id &= 28z
13,000,000& 13,000
203 R =& 3,600 3,600
03 A FRIHRFAIH| 3,600 3,600
OUloIHEal HRF& 3,600,000& 3,600
301 LEHBNEF 11,000 5,000 6,000
11 HALAHIXIEZ 5,000 5,000 0
OZ30I0Id &= 28Ug
5,000,000& 5,000
14 JIEt2 43 6,000 0 6,000
O3300IH &= &3l
6,000,000& 6,000
SIHIOIEH . 33HI0IH JHY & 012 & 1,737,743 1,321,917 415,826
8/HIOIE. 3340l &2 JI8 =4 1,737,743 1,321,917 415,826
201 LEr2 | 305,202 278,801 26,401
01 At 22|l 17,500 3,99% 13,504
Ogltolg=z4 JtezZg 13,000,000& 13,000
OHMetMEIL S AAE 4,500,000 4,500
02 22294l 287,702 274,805 12,897
OHUIoIH 233 =X 2l
270,316,800& 270,317
OtloleH2el A A" | X 22
17,385,000& 17,385
207 AR 1,382,541 848,994 533,547
02 MADH Y| 1,382,541 0 1,382,541
OQIFMHIOIHAE 2= 1,265,859,000& 1,265,859
OQIEOIOIHAE 7= 2ield]
116,682,000& 116,682
405 XHobE S| 50,000 194,122 A144.122
01 IR =S FSHI 50,000 194,122 A144.122




D JIEREA
© OOl &y 2=
© BlUIOIH . Z30I018 JHE & 0I=

o

£A  HOIEHEAE

t

AT 2A B BR(E) - HRAY - BES 0 & A HimEE]
OG0 =24 CIoIE i
50,000,000 50,000
Hizel 1,041,834 1,008,207 33,627
HZEAL = 1,041,834 1,008,207 33,627
201 Lt | 28,650 27,450 1,200
01 At 22|l 28,650 27,450 1,200
OARIRIZ AL HICHN EORRS =Y
1,050,000& 1,050
OASI NI EEAL XH22I23 =Y
2,400,000& 2,400
OSAEDAN &2t 25,200,000 25,200
202 o4t 4,200 4,200
01 =LHO4 b 4,200 4,200
OSHZYR =& Kbl 4,200,000& 4,200
207 AA2IHEH| 530,000 530,000
01 2 EH| 530,000 530,000
OALSI KI E A} 500,000,000& 500,000
OXEsH &=y 30,000,000 30,000
308 AHXIHMSOIH 478,984 446,557 32,427
01 XN AExS 478,984 446,557 32,427
OAFS M ZEAL X & 478,984,000& 478,984
HEHE S =& 1,273,577 786,410 487,167
HEHHZS 2 620,057 786,410 A 166,353
201 L2 | 36,828 430, 167 AT73,339
01 At 22|l 4,050 2,400 1,650
OHMetd EotIdsl =< 4,050,000& 4,050
02 2324l 352,778 427,767 AT4,989
OYRTMIGAAE FX 2
194,000,000& 194,000
OCIMLXNEANE KXl
149,017,000& 149,017
OUlal Y elil S sXl2el
9,761,000& 9,761
202 Ot 1,000 1,000
01 =LHO LI 1,000 1,000
OHdEFEE3 F& ¢y| 1,000,000& 1,000
308 REXISHMSOIH 262,229 251,377 10,852
11 B2 S0 EE&E &AL 262,229 251,377 10,852
OANSHEFZAALE MHE 29|
6,600,000& 6,600
OANETEE ZSIIEAIAE &2 L o=
TFAIAE XA 22|
141,803,000& 141,803
O=2-LIetAIAE |Xl2te] 23|
113,826,000& 113,826




ISIEE SN

£A  HOIEHEAE

C oo 8y 25
L #EEEs 2
= RA - ZE - B9I(E) - AISAY - BES A
HIELZY AIAE 2= 653,520
405 KHAHF SH] 653,520
01 ML ESF SHI 653,520
OgReIAIAE HHSAHA 2=
653,520,000 653,520
HH2SZH 41,456 40,856
Jl2ZHI(diolesAgd 41,4% 40,85
22| 41,4% 40,856
201 er2 3| 23,472 23,472
01 At2t2lt] 23,472 23,472
ORAM2g==24| 13,472,000 13,472
OJ|2ge=8 5 10,000,000 10,000
202 04| 13,184 13,184
01 2L AL 13,184 13,184
OJlzgR=8 0o 13,184,000 13,184
203 SR =4 4,800 4,200
M FA2HLRFEI 4,800 4,200
ORAM2EER=2] 4,800,000 4,800




H & 0l & AHS B Ml A

20238 =0ilaF LEHSIA D

B XA A

A=z JExEA 2A 1 ADEZAIEE R
M AQIETAl J|Bt 2=
Chelr ADIEES Al MY FE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
ADIESAIGE 2 24,587,690 14,306,870 10,280,820
= 16,682,000
Al 7,905,690
ADIEZAl JI8t 2= 22,157,231 9,678,552 12,478,679
s 16,682,000
Al 5,475,231
ADIEESAl AFY =& 22,157,231 9,678,552 12,478,679
s 16,682,000
Al 5,475,231
QIMADIEANEIZY 29 100,000 100,000
308 AHXIHM SO & 100,000 100,000
11 S 2S0eHE &R A LI 100,000 100,000
OIMADIEAEIEZY JHZE
100,000, 000& 100,000
AQIESAl JIBAIE =4 1,940,981 299,802 1,641,179
201 L2 | 258,673 179,047 79,626
01 At 22|l 12,000 19,200 AT7,200
OQIEZAA ADETAIAIEE S 2F
s =< 10,500,000& 10,500
OADIEXDIISAIG 25t P2 AM (HICHA
1) 1,500,000& 1,500
02 E324Hl 246,673 159,847 86,826
OADIEAIEl S8 dEdzE
1,320,000& 1,320
O8td = Xtz 2,779,000& 2,779
O3+ iz 225,000 225
OADIEXISAY SR 2
142,349,000& 142,349
ool 2= 100,000,000 100,000
308 AXISHMSOIA 215,865 0 215,865
11 SISO E AR PE A 215,865 0 215,865
OADIEAIEl SEEHE 7Al2el
215,865,000& 215,865
401 AIEHIZL 28I 1,466,443 88,330 1,378,113
01 Al&Hl 1,247,983 88,330 1,159,653
OADIEXIIS AL 2EH =AY
1,247,983,000& 1,247,983
02 Zcldl 212,460 0 212,460
OAOIEEXDIIS A 2&HH A=A
212,460,000& 212,460
03 AIE =2 CHHI 6,000 0 6,000
OADIEXDIIS AL 28 RSAIY
6,000,000& 6,000
ADIECAl 25 (HEF) 138,750 1,588,750 1,450,000
201 L2 | 133,710 133,710 0




AR JEEFA 2A T ATIECAIGER
HzH: AQIET Al DB 2=
Chelr ADIEES Al MY FE (St &)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2
01 AFR22t2lHl 33,710 33,710 0
OADIEZAl DS 2ALY
560,000 560
OFUAZRH ALET Al Z22AY 29
30,000,000 30,000
OBIISIRE 9 HA s
3,150,000& 3,150
03 SHAIZHHI 100,000 100,000 0
OADIEEZAl EAIZ &It
100,000,000 100,000
202 04| 1,440 1,440
01 2| 1,440 1,440
OADIEZAl 25 =& (|
1,440,000& 1,440
203 R =&IH| 3,600 3,600
03 AIHF=RIAR2=AIH| 3,600 3,600
OADIEZAl = HRFXH|
3,600,000& 3,600
ARIE OIF 2leldy A 150,000 150,000
308 AXIHHSOIA 150,000 150,000
01 AIXHMBAEEZ 150,000 150,000
OAIBIEN OIA 2|8l Z22AI
150,000, 000& 150,000
ADIE Y2|X] B2 & SAAIE(ZE) 10,602,500 0 10,602,500
= 8,482,000
Al 2,120,500
403 XEXISHHSKH=0|A 10,602,500 0 10,602,500
rag 8,482,000
Al 2,120,500
02 SINI2SHICHSHAH=2 X L AL B 10,602,500 0 10,602,500
OEAY ADE AT AHIA SHAE
10, 602,500,000 10,602,500
g 8,482,000
Al 2,120,500
ADIE Y2|X] B2 & SAAIE (XI) 9,225,000 0 9,225,000
= 8,200,000
Al 1,025,000
403 XEXISHHSXH=0|A 9,225,000 0 9,225,000
g 8,200,000
Al 1,025,000
01 XEXIHH A =22 X 9,225,000 0 9,225,000
OMEAZIY AQIESZEHE B2
6,300,000,000& 6,300,000
ray 5,600,000
Al 700,000




D IJIEEREA
ADIERAl JIBE 5
x

TRl ADLESAl AFY F& (SH9 H2)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
Oz AOE SatAdlA
2,925,000,000& 2,925,000
= 2,600,000
Al 325,000
AOLEZ A #EAE 2,397,024 4,596,668 A2,199,644
ANEZA 2 25 ¢ 29 2,397,024 4,5%,668 A2,199,644
A0HE GIS 218 2= 962,880 1,966,400 A1,003,520
201 er23| 10,000 8,000 2,000
01 At2teltl 10,000 8,000 2,000
O8E ¢ & == MH 10,000,000 10,000
202 0o4dl 2,880 2,400 480
01 =LHOHI 2,880 2,400 480
OADIEGISAIA =& (4| 2,880,000 2,880
207 ARl 950,000 1,956,000 A1,006,000
02 MAHHZHI 950,000 1,956,000 A1,006,000
OCIFAl GIS HIOIH & 25 At
950,000,000 950,000
GIS S Rl 1,179,6% 1,030,268 149,428
201 er23 | 1,179,6% 1,030,268 149,428
01 At2teltl 3,150 30,312 N2T7,162
OEIHAANRIASE 213 &4 &
3,150,000& 3,150
02 S3=gHl 1,176,546 999,956 176,590
OGIS EE =Al2c 1,176,546,000& 1,176,546
XROIEHHA CIMOIS E2RHE 200,000 1,600,000 1,400,000
201 2= 200,000 820,710 620,710
01 AtR2t2lt] 20,000 720,710 A700,710
ONEHA 2EHI(AMRE8E, 2294, Xt
2g+¢ ) 20,000,000 20,000
2 s5=34l 180,000 0 180,000
OUIEtHA 2HS 24 - FAl 2l
180,000,000 180,000
CIXIE D283 A2 54,448 54,448
201 et 3| 54,448 54,448
02 s3=gHl 54,448 54,448
OCIXNE =S "Nl
54,448,000 54,448
Y2 ZH| 33,435 31,650 1,785
JI2ZHI(ADIEESAIEER) 33,435 31,650 1,785
k==l 33,435 31,650 1,785
201 ger=3| 19,635 17,850 1,785
01 At 2|l 19,635 17,850 1,785
ORAMEg+SHl 9,971,000& 9,97




S - A B9(E0) - HRAY - BES of v A
O=gH| 9,663,500 9,664
202 04l 10,200 10,200
01 =LHOHI 10,200 10,200
OJl=gR 10,200,000 10,200
203 RF&d 3,600 3,600
04 2EAEEY 3,600 3,600
ORN2gd 3,600,000& 3,600




